
PROFESSIONAL EXAMINATION BOARD
Police Constable Recruitment Test ­ 2016

7th August 2016, 12:00 PM
Topic:­ General and Logical Knowledge
1)

Question Stimulus :­

X is the son of Y; Y and L are sisters; Z is the mother of L and P is the son of Z. Which of
the following statements is true? / X, Y का बटेा ह;ै Y और L बहन ेह⢶�; Z, L की माता ह ैऔर P, Z का बटेा
ह।ै िनĀ म蒴� स ेकौन सा कथन स萩Ā ह?ै

P and X are cousins / P और X चचरेे भाई ह⢶�

P is the maternal uncle of X / P, X के मामा ह⢶�

L is the maternal grandfather of X / L, X के नाना ह⢶�

C and P are sisters / C और P बहन ेह⢶�

Correct Answer :­P is the maternal uncle of X / P, X के मामा ह⢶� 

2)

Question Stimulus :­

Who amongst the following cricketer has the dis塊Ānc塊Āon of having ba뱎Āed on all 5 days of a cricket test match? /
िनĀिल芤�खत ि갠�केटर म蒴� स ेिकसको ि갠�केट ट噯ेĀ मचै के सभी 5 िदन ब䡚Āबेाजी करन ेका गौरव �ा鱋Ā ह?ै

Sunil Gavaskar / सनुील गाव�Āर

Geoffrey Boyco뱎Ā / 耇Āो룏�ी बायकाट

Vivian Richards / िविवयन 캣�रचड檰�स

Ravi Shastri / रिव शा鹯Āी

Correct Answer :­Ravi Shastri / रिव शा鹯Āी 

3)

Question Stimulus :­

Five people A,B,C,D and E are sitting in a circular path facing the centre. B is next after one
to A in the left. D is after two to C in the right. Then who is fourth to C in the right? / पाचँ
☠က芤�ꛟ� A,B,C,D एव ंE एक च갠�ीय पथ पर क蒴�� की ओर मखु करके बठैे �ए ह⢶�| B, A के बायी ंओर एक के बाद अगला ह।ै
D, C के दायी ंओर दो के बाद अगला ह|ै तब C के दायी ंओर स ेचौथा कौन ह?ै

D



B

E

A

Correct Answer :­D 

4)

Question Stimulus :­

If A+B means A is the brother of B, P/Q means P is the sister of Q and X*Y means X is the
son of Y. What does P/Q+R*S means? / यिद A+B का अथ檰� ह ैिक A, B का भाई ह,ै P/Q का अथ檰� ह ैिक P,
Q की बहन ह ैऔर X*Y का अथ檰� ह ैिक X, Y का बटेा ह|ै P/Q+R*S का 뛠�ा अथ檰� ह?ै

S is the uncle of P / S, P का चाचा है

S is the mother of P / S, P की माता है

S is the sister of P / S, P की बहन है

S is the niece of P / S, P की भतीजी है

Correct Answer :­S is the mother of P / S, P की माता ह ै

5)

Question Stimulus :­

Sushrutha was also called, ____. / सზु�तु को ____ भी कहा जाता था।

Father of medicine / औषिध का जनक

First Plastic Surgeon / �थम ⓐကा芤�噯Āक सज檰�न

Jnana Degula / जनन दगेलुा

Father of Surgery / शずĀिचिकᨫĀा के जनक

Correct Answer :­Father of Surgery / शずĀिचिकᨫĀा के जनक 

6)

Question Stimulus :­

Indian badminton player and the winner of the gold medal in the Asian sub junior championship who
was born in Dhar / भारतीय बडैिमटंन 芤�खलाड़ी और एिशयन जिूनयर च⢶�िपयन का 犴Ā वण檰�पदक िवजतेा, जो धार
म蒴� पदैा �आ



Roop Singh / �प िसहं

Asim Sher Khan / असीम शरे खान

Aditya Joshmi / आिद傠Ā य जोशमी

Ahmed Khan / अहमद खान

Correct Answer :­Aditya Joshmi / आिद傠Ā य जोशमी 

7)

Question Stimulus :­

If mobile phone is turned on, then if someone cries then the rotator rotates. No one is crying because phone is turned
off. / अगर मोबाइल को ऑन िकया गया ह,ै तो यिद कोई रोता ह ैतो रोटटेर घमूता ह।ै कोई रो नही ंरहा ह ै뛠�ोिंक फोन को
ऑफ िकया गया ह ै।

True / सही

False / गलत

Maybe / हो सकता है

Irrelevant / अ�ासिंगक

Correct Answer :­Irrelevant / अ�ासिंगक 

8)

Question Stimulus :­

If A+B means A is the brother of B, A­B means A is the son of B and A*B means A is the
sister of B. What does P*R­B means? / यिद A+B का अथ檰� ह ैिक A, B का भाई  ह ैएव ंA­B का अथ檰� ह ैिक
A, B की प⻊ु� ह ैएव ंA*B का अथ檰� ह ैिक A, B की बहन ह|ै P*R­B का 뛠�ा अथ檰� ह?ै

P is the uncle of B / P, B का चाचा है

P is the daughter of B / P, B की प⻊ु�ी है

P is the niece of B / P, B की भतीजी है

P is the nephew of B / P, B का भतीजा है

Correct Answer :­P is the daughter of B / P, B की प⻊ु�ी ह ै

9)

Question Stimulus :­



Who is the only Prime Minister to be sworn in thrice after Indira Gandhi? / इिंदरा गाधंी के बाद तीन बार
शपथ लने ेवाल ेएक मा⻊� �धानम⻊ं�ी कौन ह⢶�?

PV Narasimha Rao / पीवी नरिसमह्ा राव

Rajiv Gandhi / राजीव गाधंी

Dr. Manmohan Singh / डा. मनमोहन िसहं

Atal Bihari Vajpayee / अटल िबहार वाजपयेी

Correct Answer :­Atal Bihari Vajpayee / अटल िबहार वाजपयेी 

10)

Question Stimulus :­

The Prarthana Samaj was founded by / �ाथ檰�ना समाज की 犴Āथापना िकसन ेकी?

M G Ranade / एमजी रानाडे

Dayananda Saraswati / दयानदं सर㙲Āती

Raja Ram Mohan Roy / राजा राम मोहन रॉय

Jyotiba Phule / 耇Āोितबा फुले

Correct Answer :­M G Ranade / एमजी रानाड े

11)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकĀيخ चिुनए
जो िदए गए कथनो ंएव ंिन屩Āष犸� के बारे म蒴� सही ह।ै

Statements: / कथन:

Some sweets are not stones. / कुछ िमठाइया ँपᐥĀर नही ंह⢶�।

Some books are not sweets. / कुछ िकताब蒴� िमठाइया ँनही ंह⢶�।

 

Conclusions:   / िन屩Āष檰�:

I. Some books are stones. / I. कुछ िकताब蒴� पᐥĀर ह⢶�।

II. Some sweets are books. / II. कुछ िमठाइया ँिकताब蒴� ह⢶�।

Only conclusion I follows / केवल िन屩Āष檰� I िनकलता है



Only conclusion II follows / केवल िन屩Āष檰� II िनकलता है

Both conclusion I and II follows / दोनो ंिन屩Āष檰� I और II िनकलत ेह⢶�

None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता ह ै

12)

Question Stimulus :­

Shankar said to Sanjay, "That boy playing football is the younger of the two brothers of the
daughter of my father's wife". How is the boy playing football related to Shankar? / शकंर ने
सजंय स ेकहा, “फुटबॉल खले रहा लड़का मरेे िपता की प鰦Āी की बटेी के दो भाइयो ंम蒴� स ेछोटा वाला ह”ै। फुटबॉल खले रहा
लड़का शकंर स ेकैस ेसबंिंधत ह?ै

Son / बटेा

Brother / भाई

Cousin / चचरेा भाई

Nephew / भतीजा

Correct Answer :­Brother / भाई 

13)

Question Stimulus :­

In the following ques塊Āon, there is certain rela塊Āonship between the first two words. Choose the fourth word
from the following op塊Āons which has a similar kind of rela塊Āon with the third word. / िनĀ �扤Ā म蒴�, पहल ेतो
श詎Āो ंके बीच िकसी �कार स ेकोई सबंधं ह|ै िनĀ िवकĀيخो ंम蒴� स ेचौथा श詎Ā चिुनय ेिजसका तीसरे श詎Ā के साथ
उसी �कार का सबंधं ह|ै

DOCTOR : PATIENT :: LAWYER: ? / डॉ盟�र : मरीज़ :: वकील: ?

PASSENGER / या⻊�ी

JUDGE / 撠ကायाधीश

CLIENT / ᫅�ाहक

CRIMINAL / अपराधी

Correct Answer :­CLIENT / ᫅�ाहक 

14)



Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकĀيخ
चिुनए, जो तक檰� की 䂎Āि豩Ā स ेनीच ेिदए गए कथन के समान ह:ै

“If Jones is in Los Angeles, then he is in California.” / “यिद जोसं लॉस ऐजंिेलस म蒴� नही ंह,ै तो वह
कैिलफोिन檰�या म蒴� ह।ै”

If Jones is not in Califonia, then he is not in Los Angeles. / यिद जोसं कैिलफोिन檰�या म蒴� नही ंह,ै तब वह
लॉस ऐजंिेलस म蒴� नही ंह।ै

Jones is in Los Angeles, or he is in Califonia. / जोसं लॉस ऐजंिेलस म蒴� ह ैया िफर वह कैिलफोिन檰�या म蒴� ह।ै

If Jones is in Califonia, then he is in Los Angeles. / यिद जोसं कैिलफोिन檰�या म蒴� ह,ै तब वह लॉस ऐजंिेलस
म蒴� ह।ै

If Jones is not in Los Angeles, then he is not in Califonia. / यिद जोसं लॉस ऐजंिेलस म蒴� नही ंह,ै तब वह
कैिलफोिन檰�या म蒴� नही ंह।ै

Correct Answer :­If Jones is not in Califonia, then he is not in Los Angeles. / यिद जोसं कैिलफोिन檰�या म蒴�
नही ंह,ै तब वह लॉस ऐजंिेलस म蒴� नही ंह।ै 

15)

Question Stimulus :­

Girdhari Lal Yadav was conferred the Arjuna Award in 2009 for which of the following sports? /
िनĀिल芤�खत म蒴� स ेिकस खले के िलए िगरधारी लाल यादव को वष檰� 2009 म蒴� अज檰ु�न परु�Āार स ेस鹔Āािनत िकया
गया था?

Yachting / नौकायन

Wushu / वशुु

Wrestling / कु䩤Āी

Fencing / पटबेाज़ी

Correct Answer :­Yachting / नौकायन 

16)

Question Stimulus :­

Choose the number which is different from others in the group. / उस स勫ं�ा को चिुनय ेजो समहू म蒴� बाकी
सब स ेअलग ह|ै

21

39



51

83

Correct Answer :­83 

17)

Question Stimulus :­

The world famous sun temple was built by _____./ िव瑧Ā �िस氲Ā सयू檰� मिंदर  ____ न ेबनाया
था।

Narasimha Deva /  नरिसहं दवे

Anangabhima Deva / अनगं भीमा दवेा

Jajati / जजाित

Chodaganga Deva / छोरागगंा दवेा

Correct Answer :­Narasimha Deva /  नरिसहं दवे 

18)

Question Stimulus :­

In the following ques塊Āon, there is certain rela塊Āonship between the first two words. Choose the fourth word
from the following op塊Āons which has a similar kind of rela塊Āon with the third word. / िनĀ �扤Ā म蒴�, पहल ेदो
श詎Āो ंके बीच 噱Ā豩Ā सबंधं ह|ै िनĀ िवकĀيخो ंम蒴� स ेचौथा श詎Ā चिुनय ेिजसका तीसरे श詎Ā के साथ उसी �कार का
सबंधं ह|ै

BIOLOGY: ANIMALS :: ECONOMICS : ? / जीविव鐃Āान : जानवर :: अथ檰�शा鹯Ā : ?

TEACHER / अ鹄Āापक

RESEARCH / अनसुधंान

MONEY / पसैा

SUBJECT / िवषय

Correct Answer :­MONEY / पसैा 

19)

Question Stimulus :­

A + B means A is the daughter of B / A+B का ताĀय檰� ह ैिक A, B की प⻊ु�ी है



A – B means A is the husband of B / A­B का ताĀय檰� ह ैिक A, B का पित है

A ´ B means A is brother of the B. / AxB का ताĀय檰� ह ैिक A, B का भाई है

 

P + Q – R means / P + Q – R का अथ檰� है

R is mother of P / R, P की माता है

R is the sister‐in‐law of P / R, P की साली है

R is the aunt of P / R, P की चाची है

R is the mother‐in‐law of P / R, P की सास है

Correct Answer :­R is mother of P / R, P की माता ह ै

20)

Question Stimulus :­

Select the option, which is the logical equivalent of the statement given below: / वह िवकĀيخ
चिुनए,जो तक檰� की 䂎Āि豩Ā स ेनीच ेिदए गए कथन के समान ह ै:

 

She will come if and only if you invite her. / वह आयगेी केवल और केवल तब यिद आप उस ेआमिं⻊�त कर蒴�।

She will come even if you do not invite her. / यिद आप उस ेआमिं⻊�त न भी कर蒴� तब भी वह आयगेी।

She will not come even if you invite her. / यिद आप उस ेआमिं⻊�त कर蒴� भी तब भी वह नही ंआयगेी।

She will come if you invite her. / वह आयगेी यिद आप उस ेआमिं⻊�त कर蒴�।

That she has come does not mean that you had invited her. / 뛠�ोिंक वह आयी ह,ै इसका मतलब यह
नही ंिक आपन ेउस ेआमिं⻊�त िकया था।

Correct Answer :­She will come if you invite her. / वह आयगेी यिद आप उस ेआमिं⻊�त कर蒴�। 

21)

Question Stimulus :­

What is common between Damodar river in Chotanagpur and Narmada in Vindhya and Satpura? /
छोटानागपरु म蒴� दामोदर नदी और िव鹄ंĀ और सतपड़ुा म蒴� नम檰�दा के बीच 뛠�ा आम ह⢶�?

Both have huge catchments/ दोनो ंिवशाल जल᫅�हण है

Both have common source/ दोनो ंआम �ोत है



Both are used only for hydel projects / दोनो ंपानी िबजली प캣�रयोजनाओ ंके िलए ही इ湯Āमेाल िकया जाता
है

Both are flowing through rift valleys/ दोनो ंदरार घािटयो ंके मा鹄Āम स ेबह रही ह⢶�

Correct Answer :­Both are flowing through rift valleys/ दोनो ंदरार घािटयो ंके मा鹄Āम स ेबह रही ह⢶� 

22)

Question Stimulus :­

Ranathambore tiger reserve is in which State? / रणथभंौर बाघ अभयार倜Ā िकस रा耇Ā म蒴� ह?ै

Punjab / पजंाब

Gujarat / गजुरात

Rajasthan / राज犴Āथान

Jammu and Kashmir / ज鹔Ā ूक补Āीर

Correct Answer :­Rajasthan / राज犴Āथान 

23)

Question Stimulus :­

Six students A, B, C, D, E and F are standing in a row. B is between F and D. E is between A
and C. A does not stand next to either F or D. C does not stand next to D. F is between
which of the following pair of students. / छः छा⻊� A, B, C, D,E एव ंF एक प芤ं�ꛟ� म蒴� खड़ ेह⢶�| B, F एव ंD
के म鹄Ā ह|ै E, A एव ंC के म鹄Ā ह|ै A, F या D के बगल म蒴� नही ंखड़ा ह|ै C, D के पास नही ंखड़ा ह|ै F िनĀिल芤�खत म蒴�
िकस छा⻊� की जोड़ी के म鹄Ā खड़ा ह?ै

B and D / B एव ंD

B and A / B एव ंA

B and E / B एव ंE

B and C / B एव ंC

Correct Answer :­B and C / B एव ंC 

24)

Question Stimulus :­

In a special lecture series assignment, three teams of professors are to be made. Each team
will consist of two of the professors ­ G, H, I, K, L, M. Each professor will be on exactly one
team. Each team is assigned to exactly one of the three seminar halls in the university: Hall
1, Hall 2, and Hall 3. Professors I, L, M have specialization in Economics while G, H, and K



do not have it. G,H and I each have been with the university for at least three years while
K, L, M have not been so.  While assigning duties the following conditions are to be
observed.

Each team must include at least one specialist in Economics.

Each team must include at least one professor who has been with the university for at least
three years.

Professor G must take his lecture either in Seminar hall 1 or Seminar hall 2.

/ एक िवशषे ☠ကा勫�ानमाला िनयत काय檰� म蒴�, �ोफेसरो ंकी तीन टीम蒴� बननी ह⢶�| �萩Āके टीम म蒴� इनम蒴� स ेदो �ोफेसर होगं े­ G,
H, I, K, L, M| �萩Āके �ोफेसर ठीक एक टीम म蒴� होगा| �萩Āके टीम िव욱Ā विव堻Āालय के तीन समेीनार हॉलो:ं हॉल 1, हॉल 2,
और हॉल 3 म蒴� स ेयथाथ檰�त एक को िनयत होगी| �ोफेसर I, L, M के पास अथ檰�शा鹯Ā म蒴� िविश�Ā टीकरण ह ैजबिक G, H, और K
के पास नही ंह|ै G,H और I िव욱Ā विव堻Āालय के साथ कम स ेकम तीन वष犸� स ेजड़ु े�एं ह⢶� जबिक K, L, M नही ंजड़ु े�एं ह⢶�|
काय犸� को सौपंत ेसमय, िनĀ प캣�र芤�犴Āथितया ँ�िे츰�त करनी ह⢶�|

�तयके टीम म蒴� अथ檰�शा鹯Ā का कम स ेकम एक िवशषे鐃Ā शािमल होना चािहय|े

�तयके टीम म蒴� कम स ेकम एक �ोफेसर शािमल होना चािहय ेजो िव욱Ā विव堻Āालय के साथ कम स ेकम तीन वष犸� स ेजड़ुा �आ
हो|

�ोफेसर G अपना ☠ကा勫�ान समेीनार हॉल 1 या समेीनार हॉल 2 म蒴� ल|े

 

If L is to take a lecture in Seminar hall 3, which of the following must be true? / यिद L को
☠ကा勫�ान समेीनार हॉल 3 म蒴� लनेा ह,ै तो िनĀ म蒴� स ेकौन सा स萩Ā होना चािहय?े

G is M's partner. / G, M का साथी ह।ै

M takes a lecture in Hall 1. / M हॉल 1 म蒴� ☠ကा勫�ान लतेा ह|ै

G is L's partner. / G, L का साथी ह|ै

H takes a lecture in Hall 1. / H हॉल 1 म蒴� ☠ကा勫�ान लतेा ह|ै

Correct Answer :­G is M's partner. / G, M का साथी ह।ै 

25)

Question Stimulus :­

Gandhi Peace Prize was awarded in 2014 to: / 2014 म蒴� गाधँी शािंत परु�Āार स ेिकसको स鹔Āािनत िकया गया
था:

Bharatiya Vidya Bhavan / भारतीय िव堻Āा भवन

Chandi Prasad Bhatt / चडंी �साद भ蠎Ā

National Disaster Response Force / रा豩Ā㪱�ीय आपदा मोचन बल



Indian Space Research Organization / भारतीय अतं캣�र츰� अनसुधंान सगंठन

Correct Answer :­Indian Space Research Organization / भारतीय अतं캣�र츰� अनसुधंान सगंठन 

26)

Question Stimulus :­

India has entered into Mahakali treaty with _____ for implementation of Pancheshwar Multipurpose
Project. / भारत न े___के साथ पचं瑧ेĀर ब�उ�Āशेीय प캣�रयोजना के काया檰�ṊĀयन म蒴� महाकाली सिंध म蒴� �वशे िकया ह।ै

Sri Lanka / ზ�ीलकंा

Bhutan / भटूान

Nepal / नपेाल

Pakistan / पािक湯Āान

Correct Answer :­Nepal / नपेाल 

27)

Question Stimulus :­

A railway network links some towns in a country such that tracks lie between M and N,
between M and O, between O and R , between R and T , between R and U , between T and
P  and between P and S. No two tracks intersect each other except at the towns. A train can
travel from P to N only in that direction and not back. / एक रेलव ेनटेवक檰� दशे के कुछ नगरो ंको इस
तरह स ेजोड़ता ह ैिक पट캣�रया ँM और N के बीच, M और O के बीच, O और R के बीच, R और T के बीच, R और U के
बीच, T और P के बीच और P और S के बीच 芤�犴Āथत हो|ं कोई भी दो पट캣�रया ँनगरो ंको छोड़कर कही ंभी एक दूसरे को
�ित替�दे नही ंकरती | एक रेलगाड़ी P स ेN केवल इसी िदशा म蒴� या⻊�ा कर सकती ह ैऔर पीछे की िदशा म蒴� नही|ं

If the track between M and O is broken, which other track is affected? / यिद M और O के बीच की
पटरी टूट गई ह,ै तो कौन सी अ撠က पटरी �भािवत होगी?

R to M / R स ेM

P to M / P स ेM

N to S / N स ेS

N to M / N स ेM

Correct Answer :­N to S / N स ेS 

28)

Question Stimulus :­

Which of the following districts does NOT belong to Gwalior division? / िनĀिल芤�खत िजलो ंम蒴� स ेकौन सा



Which of the following districts does NOT belong to Gwalior division? / िनĀिल芤�खत िजलो ंम蒴� स ेकौन सा
िजला ꓰ�ािलयर सभंाग का नही ंह?ै

Bhind / िभडं

Ashok Nagar / अशोक नगर

Guna / गणुा

Shivpuri / िशवपरुी

Correct Answer :­Bhind / िभडं 

29)

Question Stimulus :­

In 2005, who became India’s first Formula One racing driver? / 2005 म蒴�, पहल ेफ़ॉम檰ू�ला वन रेिसगं ड㪱�ाइवर
कौन बन ेथ?े

Vijender Singh/ िवज⑰ेကिसहं

Vijay Mallya/ िवजय माずĀा

Narain Karthikeyan/ नारायण काित檰�केयन

Karun Chandhok/ क䮠�ण चडंोक

Correct Answer :­Narain Karthikeyan/ नारायण काित檰�केयन 

30)

Question Stimulus :­

The river that separates the western and eastern part of the Gandhisagar sanctuary is_____./ _____नदी
गाधंी सागर अभयार倜Ā के पि穢Āमी और पवू㲲� भाग को अलग करती ह।ै

Chambal / चबंल

Ken / केन

Son / सोन

Yamuna / यमनुा

Correct Answer :­Chambal / चबंल 

31)



Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकĀيخ चिुनए
जो िदए गए कथनो ंएव ंिन屩Āष犸� के बारे म蒴� सही ह।ै

Statements: / कथन:

Some lamps are villages. / कुछ लैĀ गावँ ह⢶�।

No villages are dogs. / कोई भी गावँ कुᐣĀ ेनही ंह⢶�।

 

Conclusions:   / िन屩Āष檰�:

I. All villages are lamps. / I. सभी गावँ लैĀ ह⢶�।

II. Not all villages are lamps. / II. सब गावँ लैĀ नही ंह⢶�।

Only conclusion I follows / केवल िन屩Āष檰� I िनकलता है

Only conclusion II follows / केवल िन屩Āष檰� II िनकलता है

Both conclusion I and II follows / दोनो ंिन屩Āष檰� I और II िनकलत ेह⢶�

None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता ह ै

32)

Question Stimulus :­

Non Resident Indian (NRI) day is celebrated in India on __ ./ अिनवासी भारतीय (एनआरआई) िदवस भारत
म蒴� ____को मनाया जाता ह।ै

9th February / 9 वी ंफरवरी

10th February / 10 वी ंफरवरी

10th January / 10 वी ंजनवरी

9th January / 9 वी ंजनवरी

Correct Answer :­9th January / 9 वी ंजनवरी 

33)

Question Stimulus :­

Film and television Institute of India is in ___./ भारत का िफᡚĀ और टलेीिवजन स犴ंĀथान __म蒴� ह।ै



Thane / ठाणे

Nagpur / नागपरु

Pune / पणुे

Nashik / नािसक

Correct Answer :­Pune / पणु े

34)

Question Stimulus :­

How many union territories are there in India? / भारत म蒴� िकतन ेक蒴�� शािसत �दशे ह⢶�?

5

6

7

29

Correct Answer :­7 

35)

Question Stimulus :­

________ is the largest state in India by area. / ___ 츰�⻊े� के ज़캣�रय ेस ेभारत म蒴� सबस ेबड़ा रा耇Ā ह।ै

Uttar Pradesh / उᐣĀर �दशे

Rajasthan / राज犴Āथान

Maharashtra / महारा豩Ā㪱�

Tamil Nadu / तिमलनाडु

Correct Answer :­Rajasthan / राज犴Āथान 

36)

Question Stimulus :­

Pointing to a girl, a person said," She is the only daughter of the only son of the wife of the
father­in­law of my wife". How is the girl related to the person? / एक लड़की की ओर सकंेत करते
�ए, एक आदमी न ेकहा, “वह मरेी प鰦Āी के ससरु की प鰦Āी के इकलौत ेबटे ेकी इकलौती बटेी ह”ै। लड़की आदमी स ेकैसे
सबंिंधत ह?ै



Niece / भतीजी

Daughter / बटेी

Sister / बहन

Daughter­in­law / ब�

Correct Answer :­Daughter / बटेी 

37)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवकĀيخ चिुनए
जो िदए गए कथनो ंएव ंिन屩Āष犸� के बारे म蒴� सही ह।ै

Statements: / कथन:

No chairs are buckets. / कोई भी कुिस檰�या ँबा᱗Āी नही ंह⢶�।

Some stories are not buckets. / कुछ कहािनया ँबा᱗Āी नही ंह⢶�।

 

Conclusions: / िन屩Āष檰�:

I. Some stories are chairs. / कुछ कहािनया ँकुिस檰�या ँह⢶�।

II. All chairs are stories. / सभी कुिस檰�या ँकहािनया ँह⢶�।

Only conclusion I follows / केवल िन屩Āष檰� I िनकलता है

Only conclusion II follows / केवल िन屩Āष檰� II िनकलता है

Both conclusion I and II follows / दोनो ंिन屩Āष檰� I और II िनकलत ेह⢶�

None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता है

Correct Answer :­None of the conclusion I or II follows / िन屩Āष檰� I या II म蒴� स ेकोई नही ंिनकलता ह ै

38)

Question Stimulus :­

Following are the three views of a cube. Which of the following op塊Āons is opposite to the face shown at the
right? / िनĀ घन के तीन 䂎ĀꁥĀ ह⢶�| िनĀ म蒴� स ेकौन सा िवकĀيخ दायी ंओर िदखाय ेगय ेफलक के िवपरीत ह?ै



Correct Answer :­  

39)

Question Stimulus :­

Which Article deals with Emergency and President’s Rule in States? / कौन सा अन替ु�दे आपातकाल और
रा耇Āो ंम蒴� रा豩Ā㪱�पित शासन का काय檰� दखेता ह?ै

Article 356 / अन替ु�दे 356

Article 368 / अन替ु�दे 368

Article 372 / अन替ु�दे 372

Article 370 / अन替ु�दे 370

Correct Answer :­Article 356 / अन替ु�दे 356 

40)

Question Stimulus :­

Who was the first Chief Justice of the High Court of Madhya Pradesh? / म鹄Ā �दशे की हाईकोट檰� के पहल ेम勫ु�
撠ကायाधीश कौन थ?े

Justice G.P. Bhut /  撠ကायाधीश जी.पी.भ蠎Ā



Justice P.V. Dixit / 撠ကायाधीश पी.वी दीि츰�त

Justice M.Hidayatullah / 撠ကायाधीश एम. िहदायत䡚ुĀाह

Justice A.M. Khanwilkar / 撠ကायाधीश ए. एम. खानिवलकर

Correct Answer :­Justice M.Hidayatullah / 撠ကायाधीश एम. िहदायत䡚ुĀाह 

Topic:­ Mental Ability and Mental Aptitude
1)

Question Stimulus :­

How many liters of acid are there in 12 liters of a 20% solu塊Āon?/ 12 लीटर 20% िवलयन म蒴� िकतन ेलीटर अ칔Ā होता ह?ै

2

3

2.4

2.8

Correct Answer :­2.4 

2)

Question Stimulus :­

In a certain code GREATNESS is wri뱎Āen as HQFZUMFRT. How is GOODNESSS wri뱎Āen in the code? / िकसी खास कोड
म蒴� GREATNESS को िलखा जाता ह ैHQFZUMFRT| उस कोड म蒴� GOODNESSS को कैस ेिलखा जायगेा?

FZHQFRT

MOQDPEST

JMOERTS

HNPCODTR

Correct Answer :­HNPCODTR 

3)

Question Stimulus :­

What is the minimum number of straight lines needed to build the following figure? / िनĀ आकृित को बनान ेके िलये
撠ကनूतम स勫ं�ा म◌ें िकतनी सीधी रेखाओ ंकी आवꁥĀकता होगी?



8

9

10

11

Correct Answer :­9 

4)

Question Stimulus :­

70% of the students of a college are from a school under the same management. 60% of them are boys. What percentage of
the total are girls from the school under the same management? / एक कॉलजे के िव堻Āािथ檰�यो ंका 70% उसी �बधंन के
अधीन एक िव堻Āालय स ेह⢶�। उनम蒴� स े60% लड़के ह⢶�| उसी �बधंन के अधीन िव堻Āालय स ेलड़िकयो ंकी कुल �ितशतता 뛠�ा
ह?ै

42

18

28

72

Correct Answer :­28 

5)

Question Stimulus :­

By selling article for Rs. 480, a man gains 20% on the cost price. At what price should he sell it to gain
30%? / 480 䮠�पय ेम蒴� एक वस◌्त ुकी िब갠�ी करके, एक आदमी को लागत मずूĀ पर 20% लाभ होता ह।ै उस ेवह व湯Ā ुिकस कीमत
पर बचेनी चािहए िक उस े30% लाभ हो?

Rs. 420 / �पए 420



Rs. 520 / �पए 520

Rs. 320 / �पए 320

Rs. 120 / �पए 120

Correct Answer :­Rs. 520 / �पए 520 

6)

Question Stimulus :­

Complete the series choosing the missing number: / िवल鱋ुĀ स勫ं�ा चनुकर ზ�खंला को परूा कीिजए :

22, 15, 8, 1, _____, ­13

6

­6

­8

­10

Correct Answer :­­6 

7)

Question Stimulus :­

If nC12 = 
nC8 then n =? / यिद 

nC12 = 
nC8 तो n =?

20

12

6

30

Correct Answer :­20 

8)

Question Stimulus :­

What will be the next term in the series? / ზ�ृंखला म蒴� अगला पद 뛠�ा होगा?

A, CD, GHI, MNOP, __



VWXYZ

UVWXY

TUVWX

STUVW

Correct Answer :­UVWXY 

9)

Question Stimulus :­

If A:B = 11:7 and B:C=2:3 then find A:C ? / यिद A:B = 11:7 और B:C=2:3 ह ैतो A:C
िनकािलए।

22:51

50:23

47:53

11:12

Correct Answer :­22:51 

10)

Question Stimulus :­

How many seconds will a 250m long train take to cross a man walking with a speed of 4kmph in the direc塊Āon of the
moving train, if the speed of the train is 58kmph?/ यिद ट㪱�न की गित 58िकमी/घटंा ह,ै तो 250मी लṔĀी ट㪱�न, ट㪱�न की ही
िदशा म蒴� चल रह ेएक आदमी को पार करन ेम蒴� िकतन ेसकेंड लगाएगी?

16  sec/ 16  सकेंड

16 sec/ 16  सकेंड

16 sec/ 16 सकेंड

16  sec/ 16  सकेंड



Correct Answer :­16  sec/ 16  सकेंड 

11)

Question Stimulus :­

The probability of losing a game is 2/3. What is the probability of winning a game? / एक
खले हारन ेकी सभंावना 2/3  ह।ै एक खले जीतन े की सभंावना 뛠�ा ह?ै

1/3

1/2

2/5

1/4

Correct Answer :­1/3 

12)

Question Stimulus :­

In a certain code language, fil wil ĕl means tell them now; wil skel feil means now and then. Which is the word
for wil in that code language? / िकसी खास कोड भाषा म蒴�, fil wil ĕl का मतलब ह ैtell them now; wil skel feil का मतलब
ह ैnow and then| उसी कोड भाषा म蒴� wil के िलए 뛠�ा श詎Ā ह?ै

now

tell

them

then

Correct Answer :­now 

13)

Question Stimulus :­

The below series uses a sequence of alphabets and numbers. Identify the incorrect
combination. / नीच ेदी गई ზ�खंला अ츰�रो ं एव ंस勫ं�ाओ ंका अन갠ु�म �योग करती ह|ै गलत सयंोजन पहचािनय|े

 

(i) TT4#6ST7      

(ii) TT4#6ST7     



(iii) TT4#7ST7    

(iv)TT4#6ST7

i

ii

iii

iv

Correct Answer :­iii 

14)

Question Stimulus :­

A merchant loses 10% by selling an article. If cost price of article is Rs. 15. Find its selling price? / एक
☠ကापारी को एक व湯Ā ुबचेकर 10% की हािन होती ह।ै यिद व湯Ā ुकी लागत मずूĀ 15 䮠�पय ेह।ै इसका िब갠�ी मずूĀ 뛠�ा ह?ै

Rs. 13.50 / �पए 13.50

Rs. 12.50 / �पए 12.50

Rs. 11.50/ �पए 11.50

Rs. 10.50 / �पए 10.50

Correct Answer :­Rs. 13.50 / �पए 13.50 

15)

Question Stimulus :­

Complete the following sequence of figures. / आकृितयो ंके िनĀ 갠�म को परूा कीिजय:े



Correct Answer :­  

16)

Question Stimulus :­

How long does a train 120 meters long running at the speed of 66 km/hr take to cross a bridge 155 meters in length?/
66 िकमी/घटंा की गित स ेचलन ेवाली 120 मीटर लṔĀी एक ट㪱�न को 155 मीटर लṔĀ ेपलु को पार करन ेम蒴� िकतना समय
लगगेा?

12 sec/ 12 सकेंड

14 sec/ 14 सकेंड

15 sec/ 15 सकेंड

18 sec/ 18 सकेंड

Correct Answer :­15 sec/ 15 सकेंड 

17)

Question Stimulus :­



Complete the series choosing the missing letter/s: / िवल鱋ुĀ अ츰�र चनुकर ზ�खंला को परूा कीिजए :

a _ baba _ b _ bba _ aab

abab

baab

bbaa

aabb

Correct Answer :­baab 

18)

Question Stimulus :­

Pipes A and B can fill a tank in 10 and 12 hrs respectively. Pipe ‘C’ can empty it in 18 hrs. If all the three
pipes are opened together, then the tank will be filled in: / पाईप A और B एक ट⢶�क को 갠�मशः 10 और 12 घटंों
म蒴� भर सकत ेह⢶�। पाईप ‘C’ इस े18 घटंो ंम蒴� खाली कर सकता ह।ै यिद तीनो पाईपो ंको समान समय पर चाल ूिकया जाय,े तो
ट⢶�क को भरन ेम蒴� इतना समय लगगेा

7  hrs / 7   घटंे

7  hrs / 7   घटंे

7  hrs / 7   घटंे

7  hrs / 7   घटंे

Correct Answer :­7  hrs / 7   घटं े

19)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िनĀ िदय蒴� गय ेचार पतो ंम蒴� स ेनीच ेिदय ेगय ेपत ेके ठीक समान कौन सा एक नही ंह?ै   

 

Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792



Email:heather.johnson@camden.gov.uk

 

(i) Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792
Email:heather.johnson@camden.gov.uk
 

(ii) Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792
Email:heather.johnson@camden.gov.uk
 

(iii) Councilor: Heather Johnson (Labour)
Telephone:020 7974 2972
Email:heather.johnson@camden.gov.uk
 

(iv) Councillor: Heather Johnson (Labour)
Telephone:020 7974 2792
Email:heather.johnson@camden.gov.uk

i

ii

iii

iv

Correct Answer :­iii 

20)

Question Stimulus :­

Complete the series choosing the missing number: / िवल鱋ुĀ स勫ं�ा चनुकर ზ�खंला को परूा कीिजए :

2, 6, 18, 54, ____

98

132

140

162

Correct Answer :­162 

21)



Question Stimulus :­

The product of 103,102 and 98 is /103,102 और 98 का गणुनफल है

10,29,588

100000

1

None of these / इनम蒴� स ेकोई नहीं

Correct Answer :­10,29,588 

22)

Question Stimulus :­

Simplify:  / सरल कीिजए: 

4 

– 4 

3 

– 3 

Correct Answer :­– 4   

23)

Question Stimulus :­

19x19/19‐14+ {390/10+11}=?

52

48



50

55

Correct Answer :­55 

24)

Question Stimulus :­

The word SYSTEM is coded as SYSMET and NEARER as AENRER. Using the same code, write
FRIEND. / एक साकंेितक भाषा का �योग करत े�ए श詎Ā SYSTEM को SYSMET के �प म蒴� एव ं NEARER को
AENRER के �प म蒴� िलखा गया ह|ै समान सकंेत का �योग करत े�ए FRIEND िलख蒴�

FRIDNE

IRDEND

IRFDNE

IFREDN

Correct Answer :­IRFDNE 

25)

Question Stimulus :­

What is the average of squares of first five prime numbers? / पहली पाचँ अ᫅� स勫ं�ाओ ंके वग犸� का
औसत 뛠�ा ह?ै

41.2

41.4

41.6

41.8

Correct Answer :­41.6 

26)

Question Stimulus :­

A number was first increased by 10 percent and then it is further increased by 20%.  The
increase altogether as compared to the original number is / एक स勫ं�ा को पहल े10 �ितशत बढ़ाया
जाता ह ैऔर िफर उस े20% और बढ़ाया जाता ह।ै मलू स勫ं�ा की तलुना म蒴� सपंणू檰� बढ़त होगी

15%



30%

32%

36%

Correct Answer :­32% 

27)

Question Stimulus :­

In a certain code language, dona hona khona means send by post; demk dona delf means beyond red post.
Which is the word for dona in that code language? / िकसी खास कोड भाषा म蒴�, dona hona khona का मतलब ह ैsend
by post; demk dona delf का मतलब ह ैbeyond red post | उसी कोड भाषा म蒴� dona के िलए 뛠�ा श詎Ā ह?ै

send

beyond

post

red

Correct Answer :­post 

28)

Question Stimulus :­

In a school the total strength is 150. If the number of boys is x, then the number of girls
becomes x% of the total strength. The number of boys is/ एक  िव堻Āालय म蒴� कुल स勫ं�ा 150 ह।ै यिद
लड़को ंकी स勫ं�ा x ह,ै तो लड़िकयो ंकी स勫ं�ा कुल स勫ं�ा की x% हो जाती ह।ै लड़को ंकी स勫ं�ा है

40

50

60

90

Correct Answer :­60 

29)

Question Stimulus :­

If IJKLMNO is coded as ACTVSRX, what will be the code for KILL? / यिद IJKLMNO को ACTVSRX स ेकोिडत िकया जाता
ह,ै तो KILL के िलय े뛠�ा कोड होगा?



TVSS

TAXX

TAVV

TSVV

Correct Answer :­TAVV 

30)

Question Stimulus :­

In the following question, one term in the number series is wrong. Find out the wrong
term. / िनĀ �扤Ā म蒴�, स勫ं�ा ზ�खंला म蒴� एक पद गलत ह|ै गलत पद 鐃Āात कीिजय|े  11,2,21,3,32,4,41,5,51,6

21

11

32

51

Correct Answer :­32 

Topic:­ Science and Simple Arithmetic
1)

Question Stimulus :­

Internal fer塊Āliza塊Āon is found in______ / आतंर िनषचेन इसम蒴� पाया जाता ह ै______

Frog  / म蒴�ढक

Salamander / सलैामᩆैĀर

Fish / मछली

Lizard / िछपकली

Correct Answer :­Lizard / िछपकली 

2)

Question Stimulus :­

The measure of an angle is thrice the measure of its supplementary angle. Find its measure. / एक कोण का मान उसके
सपंरूक कोण के तीन गनुा ह।ै उसका माप िनकािलए।



45o

135o

60o

90o

Correct Answer :­135o 

3)

Question Stimulus :­

Answer the questions on the basis of the information given below. / नीच ेदी गई जानकारी के
आधार पर �扤Āो ंके उᐣĀर दीिजए

If in 2005, the production of two wheelers is expected to be 19 lakhs, what is moped
production? (Assume share of mophed production in total production is the same as
the average share of moped productions for years 2003 and 2004) / यिद 2005 म蒴�, दो पिहया
वाहनो ंका अनमुािनत उĀादन 19 लाख हो, तब मोपडे का उĀादन 뛠�ा होगा? मान ल蒴� िक कुल उĀादन म蒴� मोपडे
उĀादन का िह乲Āा, वष檰� 2003 एव ं2004 के िलए मोपडे उĀादन के औसत िह乲Ā ेके समान ह।ै

5.3 lakhs     / 5.3 लाख

4.7 lakhs   / 4.7 लाख

6.2 lakhs  / 6.2 लाख

9.7 lakhs  / 9.7 लाख

Correct Answer :­5.3 lakhs     / 5.3 लाख 

4)



Question Stimulus :­

Musical Instrument Flute produces sound using / वा堻Ā य⻊ं� बासंरुी _______ का उपयोग कर 뙄Āिन उĀꉇĀ करती है

Membrane / कला

String / तार

Air column / वाय ु湯Ā湔Ā

Hollow pipe / खोखली नली

Correct Answer :­Air column / वाय ु湯Ā湔Ā 

5)

Question Stimulus :­

Use the following graph to answer the ques塊Āon. / �扤Ā के उᐣĀर दने ेके िलए नीच ेिदए गए ᫅�ाफ का �योग कर蒴�।

How many marks has Sriram scored more than Bhasker? / ზ�ीराम न ेभा�Āर स ेिकतन ेअिधक अकं �ा鱋Ā िकए ह⢶�?

12

8

18

14

Correct Answer :­14 

6)



Question Stimulus :­

The volume of a sphere of radius ‘r’ is given by __________. / ि⻊�耇Āा ‘r’ के गोलक का आयतन__________揠ကारा िदया जाता
ह।ै

Correct Answer :­  

7)

Question Stimulus :­

If the volume of a sphere is divided by its surface area, the result is 27 cm, then the radius of the sphere is ____________ /
यिद गोलक का आयतन उसके प硬ृĀ 츰�⻊े�फल स ेिवभािजत िकया जाय,े तो प캣�रणाम 27 समेी होगा, तो गोलक की ि⻊�耇Āा
होगी____________

81 cm

9 cm

54 cm

36 cm

Correct Answer :­81 cm 

8)

Question Stimulus :­

The  positive terminal of a battery is always connected to the / बटैरी का धना䰩Āक
िसरा सदवै _______ स ेसयंोिजत रहता है

Shorter end of an LED / एलईडी के लघ ुिसरे से

Longer end of an LED / एलईडी के दीघ檰� िसरे से



Neutral end of an LED / एलईडी के उदासीन िसरे से

Nega塊Āve end of an LED / एलईडी के ऋणा䰩Āक िसरे से

Correct Answer :­Longer end of an LED / एलईडी के दीघ檰� िसरे स े

9)

Question Stimulus :­

The ___________ statement among the following is always true. / िनĀिल芤�खत म蒴� स ेतီĀ _____________
सदवै स萩Ā ह।ै

The difference of the squares of two consecutive natural numbers is equal to their product / दो
갠�मागत �ाकृितक स勫ं�ाओ ंके वग犸� का अतंर उनके गणुनफल के समान होता ह।ै

All numbers that end with '00' will be perfect squares / सभी स勫ं�ाएँ जो ‘00’ स ेख䰩Ā होती ह⢶�, उᐣĀम वग檰�
होती ह⢶�।

A number that leaves a remainder of 2 when divided by 4 is a perfect square / एक स勫ं�ा िजस े4 से
िवभािजत करन ेस े2 शषे छोड़ती ह,ै आदश檰� वग檰� होती ह।ै

No square number can be the double of another square number / कोई वग檰� स勫ं�ा िकसी अ撠က
वग檰� स勫ं�ा की दगुना  नही ंहो सकती ह।ै

Correct Answer :­No square number can be the double of another square number / कोई
वग檰� स勫ं�ा िकसी अ撠က वग檰� स勫ं�ा की दगुना  नही ंहो सकती ह।ै 

10)

Question Stimulus :­

The blood vessels which supplies oxygen and nutrients to the 塊Āssues and collect waste and carbon dioxide are known
as_____ / रꛟ� िशराएं जो ऊतको ंम蒴� ऑ�ीजन और पोषक त⊰ကो ंकी पिूत檰� करती ह⢶� और अपिश豩Ā तथा काब檰�न
डाइऑ�ाइड का स᫅ं�ह करती ह⢶�, _____ �प म蒴� जानी जाती ह⢶�।

The pulmonary veins / फु멌Āस िशराएं

The pulmonary arteries / फु멌Āस धमिनयां

The renal arteries / वृ� की धमिनयां

The capillaries / केिशकाएं

Correct Answer :­The capillaries / केिशकाएं 

11)

Question Stimulus :­



Which of the following objects is not a member of the Solar system? / िनĀ म蒴� स ेकौन सा िपĀ सौर प캣�रवार का
सदĀ नही ंह?ै

Sun / सयू檰�

Sirius / िस캣�रयस

Asteroids / 츰�ु�᫅�ह

Earth / प⠮ृĀी

Correct Answer :­Sirius / िस캣�रयस 

12)

Question Stimulus :­

The fires in electrical appliances is caused due to / िवद्युत उपकरणो ंम蒴� आग लगन ेका कारण होता है

Short circuits / लघपुथन

Over loads / अिधभार

Both A & B / A एव ंB दोनों

Only A / केवल A

Correct Answer :­Both A & B / A एव ंB दोनो ं

13)

Question Stimulus :­

Name the instrument used for soil prepara塊Āon? / मदृा िनिम檰�ित के िलए �यꛟु� य⻊ं� का नाम बताएं?

Harvester  / सĀ कित檰�⻊�

Thresher / थे्रशर

Sprinkler / 芤�湱Ā컠ं�र

Leveler / समतलक

Correct Answer :­Leveler / समतलक 

14)

Question Stimulus :­

Use the following graph to answer the ques塊Āon. / �扤Ā के उᐣĀर दने ेके िलए नीच ेिदए गए ᫅�ाफ का �योग कर蒴�।



Who received the highest marks? / िकसन ेअिधकतम अकं �ा鱋Ā िकए ह⢶�?

Champa / चपंा

Anuradha / अनरुाधा

Avinash / अिवनाश

Bhasker / भा�Āर

Correct Answer :­Champa / चपंा 

15)

Question Stimulus :­

A number when divided by 342 gives a remainder 47. When the same number is divided by 19, what would be the
remainder? / एक स勫ं�ा को 342 स ेिवभािजत करन ेपर 47 अवशषे िमलता ह।ै जब उसी स勫ं�ा को 19 स ेिवभािजत कर蒴�,तो
अवशषे 뛠�ा होगा?

47

19

9

7

Correct Answer :­9 

16)

Question Stimulus :­



During old age, eye sight becomes foggy because the eye lens becomes / व氲ृĀाव犴Āथा के दौरान, न⻊े� 䂎Āि豩Ā धिूमल हो
जाती ह,ै 뛠�ोिंक न⻊े� ल蒴�स हो जात ेह⢶�

Wide / चौड़े

Narrow / सकंीण檰�

Cloudy / धुंधले

Elongated / दीिघ檰�त

Correct Answer :­Cloudy / धुंधल े

17)

Question Stimulus :­

The length of a rectangle is increased by 50%.  By what percent would the width have to
be decreased to maintain the same area? / एक आयत की लṔĀाई 50% स ेबढ़ा दी जाती ह।ै समान 츰�⻊े�फल
बनाए रखन ेके िलए चौड़ाई को िकतन े�ितशत घटाना होगा?

30%

60%

200/3%

100/3%

Correct Answer :­100/3% 

18)

Question Stimulus :­

In the given figure, AB is a mirror; PQ is the incident ray and QR, the reflected ray. If ∟PQR
= 136o, find the ∟PQA / दी गई आकृित म蒴�, AB एक दप檰�ण ह;ै PQ एक आपितत िकरण ह ैऔर QR, प캣�रवित檰�त िकरण
ह।ै यिद ∟PQR = 136o, तो ∟PQA िनकािलए

62o

31o



22o

44o

Correct Answer :­22o 

19)

Question Stimulus :­

A sum was put at a certain rate of interest for 3 years. Had it been put at 2% higher rate, it would have fetched Rs. 72 more.
The sum is: / एक धनरािश को 3 वष犸� के िलए िकसी िनि穢Āत 䱐Āाज दर पर रखा गया। यिद उस े2% �ितशत अिधक दर पर
रखा गया होता, तो उसस े72 � 耇Āादा �ा鱋Ā �ए होत।े धनरािश ह:ै

Rs. 1,250

Rs. 1,400

Rs. 1,500

Rs. 1,200

Correct Answer :­Rs. 1,200 

20)

Question Stimulus :­

Answer the questions on the basis of the information given below. / नीच ेदी गई जानकारी के
आधार पर �扤Āो ंके उᐣĀर दीिजए

If the average prices of scooter, motorcycle and moped are Rs 11500, Rs 17500 and Rs
6500 respectively then, what was the approximate value of total production in year
2004? / यिद �Āटर, मोटरसाईिकल और मोपडे की औसत कीमत 갠�मश �पए 11500, �पए 17500 और �पए 6500
ह,ै तब वष檰� 2004 म蒴� कुल उĀादन का मずूĀ लगभग िकतना था?



Rs.29900 cr.    / �पए 29900 करोड़

Rs.1990 million    / �पए 1990 िमलीयन

Rs.247 cr.    / �पए 247 करोड़

Rs.1990 cr.    / �पए 1990 करोड़

Correct Answer :­Rs.1990 cr.    / �पए 1990 करोड़ 

21)

Question Stimulus :­

Use the following graph to answer the ques塊Āon. / �扤Ā के उᐣĀर दने ेके िलए नीच ेिदए गए ᫅�ाफ का �योग कर蒴�।

By what percentage is Champa’s score more than that of Avinash’s? / चपंा न ेअिवनाश स ेिकतन े�ितशत अकं अिधक
�ा鱋Ā िकए ह?ै

12%

9.89%

14.14%

18.18%

Correct Answer :­9.89% 

22)

Question Stimulus :­



Halley’s comet appeared in the inner parts of the solar system in 1986. The next 塊Āme this comet becomes
visible from the earth will be in the year / हलैी धमूकेत,ु सौर प캣�रवार के आतं캣�रक भाग म蒴� 1986 म蒴� िदखाई िदया था।
अगली बार यह धमूकेत ुिकस वष檰� म蒴� प⠮ृĀी स ेिदखाई दगेा?

2076

2061

2086

2026

Correct Answer :­2061 

23)

Question Stimulus :­

Which of the following is correctly matched? / िनĀ म蒴� स ेकौन सा िमलान सही ह?ै

Transpira塊Āon ‐‐‐stomata / �㙲Āदेन ‐‐‐ रं頻�

Absorp塊Āon of water‐‐‐stem / जल का अवशोषण‐‐‐तना

Transport  of food ­­­­leaf / खा堻Ā का प캣�रवहन ­­­­ पᐣĀी

Prepara塊Āon of food‐‐‐‐‐‐root / खा堻Ā का िनिम檰�ित ‐‐‐‐‐‐ जड़

Correct Answer :­Transpira塊Āon ‐‐‐stomata / �㙲Āदेन ‐‐‐ रं頻� 

24)

Question Stimulus :­

Evaluate   if A = 65o and B = 25o /   का मान िनकािलए यिद A = 65o और B= 25o

0

cot 25o

1

tan 65o

Correct Answer :­1 

25)



Question Stimulus :­

Which is the rabi crop that is also a pulse? / कौन सी रबी की फसल ह ैजो दाल भी ह?ै

Mustard / सरसों

wheat / ग竀े�ं

Gram  / चना

Maize  / म�ा

Correct Answer :­Gram  / चना 

26)

Question Stimulus :­

Fresh grapes when placed in salt solu塊Āon shrivels ,because the salt solu塊Āon is_____ / ताज़ ेअगंरू जब लवण के िवलयन
म蒴� रख ेजात ेह⢶� तो व ेिसकुड़ जात ेह⢶�, 뛠�ोिंक लवण का िवलयन ह ै_____

Hypotonic / अĀيخपरासारी

Hypertonic / अितपरासारी

Isotonic  / समपरासारी

None of the above / उपरोꛟ� म蒴� स ेकोई नहीं

Correct Answer :­Hypertonic / अितपरासारी 

27)

Question Stimulus :­

Which of the following is not a prime number? / िनĀ म蒴� स ेकौन अ᫅� स勫ं�ा नही ंह?ै

191

241

337

356

Correct Answer :­356 

28)

Question Stimulus :­



A boy 160 cm high stands in front of a plane mirror. His eyes are at a height of 150 cm from the floor .Then
the minimum length of the plane mirror for him to see his full length image is / एक 160 समेी ऊँचा लड़का एक
समतल दप檰�ण के सामन ेखड़ा ह।ै उसकी आखँ蒴� फश檰� स े150 समेी की ऊँचाई पर ह⢶�। तब उस समतल दपण檰� की 撠ကनूतम
लṔĀाई 뛠�ा होगी िजसस ेवो लड़का उसम蒴� अपन े�ितिबṔĀ की परूी लṔĀाई दखे सके?

40 cm / 40 समेी

80 cm / 80 समेी

160 cm /160  समेी

320 cm / 320 समेी

Correct Answer :­80 cm / 80 समेी 

29)

Question Stimulus :­

Electrolysis of a solu塊Āon of sodium chloride produces / सोिडयम 컠�ोराइड के िवलयन का िवद्युत अपघटन उĀꉇĀ
करता है

Hydrogen gas at cathode / कैथोड पर हाइड㪱�ोजन गसै

Chlorine at anode / ऐनोड पर 컠�ोरीन गसै

Sodium Hydroxide / सोिडयम हाइड㪱�ॉ�ाइड

All of the above / उपरोꛟ� सभी

Correct Answer :­All of the above / उपरोꛟ� सभी 

30)

Question Stimulus :­

If the amplitude of sound is doubled, then its loudness increases by / यिद 뙄Āिन का आयाम दोगनुा कर िदया
जाय,े तो इसकी �बलता म蒴� व芤ृ�氲Ā होगी

Four 塊Āmes / चार गनुा

Six 塊Āmes / छह गनुा

Eight 塊Āmes / आठ गनुा

Sixteen 塊Āmes / सोलह गनुा

Correct Answer :­Four 塊Āmes / चार गनुा 


